STARTING OFF BINOMIAL THEOREM.
Since we are doing derivatives from 1st principals I thought it would be a good idea to “introduce” using the basic BINOMIAL EXPANSION idea…..

Eg.  (x + h)3 = x3 + 3x2h1 + 3×2 x1h2 + 3×2×1 h3
                               1           1×2            1×2×3

                    = x3 + 3x2h + 3xh2 + h3     

AND (x + h)4 = x4 + 4x3h + 4×3 x2h2 + 4×3×2 xh3 + 4×3×2×1 h4
                                 1          1×2            1×2×3           1×2×3×4
                      = x4 + 4x3h  +  6x2h2    +     4xh3       +      h4  

AND (x + h)5 = x5 + 5x4h + 5×4 x3h2 + 5×4×3 x2h3 + 5×4×3×2 x h4 + 5×4×3×2×1 h5

                                 1          1×2            1×2×3           1×2×3×4             1×2×3×4×5    
                    = x5 + 5x4h + 10x3h2 +  10x2h3      +         5xh4        +      h5  

There is no need to get into the binomial expansions more deeply yet.
The above introduces the system nicely for when we re-visit it later.

Then we can make a much better job of…. 
Gradient of tangent to y = x3 at P
                            =  lim   (x + h)3 – x3 

                               h( 0              h

                                          =  lim   x3 + 3x2h + 3xh2  + h3 – x3 

                               h( 0              h

                                         =  lim   3x2h + 3xh2  + h3
                               h( 0          h

                                          =  lim    h(3x2 + 3xh + h2) 

                               h( 0              h

                                          =  lim   3x2 + 3xh + h2                              

                               h( 0              

                                          =      3x2
Then we can easily do the following IN FULL!!!
If y = x4 the gradient would be y( = 4x3
If y = x5 the gradient would be y( = 5x4
